Jf itigue 0lllhaardﬂe

Stliil‘il!l"i CALIFDRNIA e

Sailing into New Waters! Big

February 2006

follme tage Meet at Lake Ellsinore April 1st!
No Joke!!

Directions

Les Gunnarson’s
project

Build the Bullet

Classic From
Hawaii

Dave’s Tips

Christmas Party

ANTIQUE OUTBOARD NE

Antique Outboard News Big Meet at Lake Ellsinore April 1st

1240 Logan St Suite M
Costa Mesa CA 92626



Lake Elsinore

< MAPOVERY 2 .
4 ﬁr&% o :}
. d o
Qﬁ:{?, ‘ég} ‘:\} e o {n’c{s
=R GO0 4 &
B A W o oy
B RANL R N
2 e g W e
;E; W '9,»:? 7 E a}
werall | ; &
¢ .
@ B8, 8
i L7 &
‘5:;9. B, %
) Ly
X ()
&
%
\ Q_f ; {ﬂ
‘3
¥
%
&
'(!5‘
O,
g e
O /% &
ey el .
L »
3’5’ o ,gsa"\ Laks Elsinore
<= @ ‘ Stote )
‘gﬁ N A Recreation
) &4 Park
A =
X Q"‘ ; '32’? ¢ '
i  Loke Blsinors
9
é‘?
& &
4 &8
& & e
6 145;. ’;;,h
| ’%& &
% 2 *2*? 3
I
- LS <
a2 K8
. A
Kl 7, gls & lLakeland Village
i % w Sl
&) T i
S INNE Blaniead Tre 5000000 R e i : ; AR WALITES

ANTIQUE OUTBOARD NEWS



Check out David Michelmore cruising the

waters of Hawaii In his classic Boat

ﬂif &i\f‘* g’ v KLVI"W Fii Dave’s Classic Outboard Motor Collection

«Z»:nk‘*’; ‘igw‘uwi f" C’éf“w? t,ose &‘F\‘(wf
M@E«%" *,:Ewim»*{ eed werltag 6o M:x(im, (;.«» aen 3 o
T }him C»g/{ca‘,aj 3-‘3*’&”{ Hice "u f""""’f £

all fouid here o8 Onhv. we haw 4
Fredudes Lok bare, 50 T cas fuo Huese

olee i Aulule

( Looks like you have some work to do Dave )

ANTIQUE OUTBOARD NEWS



NEWPORT HAR BOR NAUTICAL MUSEUM

Length Tons
189 fi. 8 in. Burthen
900 Tons
Breadth
52f1.6in, £ Capacity
500
Height 65 ft. Passengers

Step Aboard!
Join Us for a Seafaring Adventure

Dedicated to preserving and promoting maritime heritage, the Newpornt Harbor Nautical
Muscum first opened its doors in 1986 on Balboa Boulevard. Using the enthusiasm of
local residents, the grasseoots organization erected a number of successful exhibits
recounting the history of Mewport Harbor in their one-room facility.

Ower the years the collection outgrew the small facility and in 1994, the Board of
Trustees launched an ambitious campaign to secure a larger, professionally run maritime
museum for the community. Their search was aided by the generous gift of the riverboat
restavrant, Neuben E. Lee, located at the head of the bay. The showboat, a landmark in
the harbor, was built in 1963 by Blurock and Associates to replicate a traditional delta
paddlewhecler.

Re-christened the Pride of Newport in 1995, the Musewn moved into our new home that
fall, and began to transform the'13,000 square-foot restaurant into a beautiful museum.
Today, the Museum boasts three galleries, a classroom, conference room, library, as well
as a restaurant and muscum store.  Visitors can explore the history of Newport Harbor,
enjoy our beavtiful model collection of ships of the Pacific, and be treated to one of our
wemporary exhibits on display in the Grand Salon. Programs for children and adulis are
available through our education department and wonderful fare is aweiling visitors in the
TESIALIAnt,

PRIDE OF NEWPORT TO SET SAIL

By: P. Brinkman, Jr.

The Newport Nautical Museum will be moving it’s
location during this coming year.

It has been home to a variety of nautical events such
as a Ship Model Gallery, Antique

Photo Collection, the Ships Store....and of course
where the Southern California Chapter Antique Out-
board Motor Club meets.

It will be moving across the Newport Harbor to the il o
Pavilion and Fun Zone area of he bay. It will host one : M"‘;’; {;” ;‘ Ba._BOA
more Antique Outboard meet this spring before it o R Sk

Relocates. Many thanks to its Manager, and our Host,

Marshall Steele.

ANTIQUE OUTBOARD NEWS




A Boat load of thoughts from
Dave Vaughan

TOOLS FOR DISMANTLING AN OLD OUTBOAD

Most of you already have some assortment of tools. What I’ll endeavor to do in this installment is to list the tools
needed to dismantle a simple outboard of the 30’s design. This is by for not a complete list and as the years go by
you’ll probably add a heck of a lot more to your inventory.

I think it is very important to have quality tools if you want them to last. Most major tool companies give a life-
time guarantee for the majority of their lines which means that they feel that their tools are virtually indestructible
and in general they are right. Can you ruin a tool, you bet you can, but if you use tools sensibly they will last a
lifetime. There are many off brands being offered by discounters that are well made but keep in mind that they
probably won’t be around in a few years. Do I have some of these discount tools, yes I do, and they do the job
that they were designed to do but if they break I’m out of luck. A real cheap tool is usually not worth buying be-
cause it will let you down when you most need it. OK, enough said, so lets get on with the listing.

For the kind of work you are going to do a 3/8 drive set of sockets will suffice very nicely. You will need:
* A ratchet
* A 2” & 4” extension
* A universal and a series of sockets (3/8”, 7/16”, %2, 9/16”, 5/8”, 11/16”, %4, 13/16”, 7/8”, 17)
* A 13/16” spark plug socket ,
* A set of combination wrenches (3/°8”, 7/16”, 57, 9/16”, 5/8”, 11/16”, %, 13/16”, 7/8”, 17)
Most sets usually go to %, so you’ll have to buy the 13/16”, 7/8” and the 1” separately
* An 80z. or a 100z ball peen hammer
* A dead blow rubber hammer
* A 6” & 127 crescent wrench (adjustable open end wrench)
* 3 or 4 flat blade screw drivers of various sizes. Be sure to get a small one that will fit little screws

They didn’t use Phillips style screws in the 30’s but somebody may have substituted them so

* Get a #2 Phillips screw driver.

* A 3/8” impact wrench with blade and Phillips socket attachments. (This is the type you hit with a hammer)
* A propane torch with instant ignition and fueled with MAP gas

* A ¥ x 6” to 8” piece of round aluminum or copper/brass

At this point you might notice the absence of weapons of mass destruction such as standard pliers, vice grips,
punches and chisels. These tools might be needed but whatever they are used on will probably be unusable and
have to be replaced. These are usually the tools of a rédneck mechanic and their use should be avoided if at all
possible.

As sure as Evinrude made outboards, I’ve probably overlooked several tools, but at this time this is all I can think
of. I’ll add them as I think of them.

In the next installment, now that we’re all geared up, (I bet you can’t wait) I’1l tell you how to dismantle that gem
in the rough and get it ready for refurbishing.

ANTIQUE OUTBOARD NEWS



A Boat load of thoughts from Dave Vaughan

This is the first article, in a series of articles, on my Ideas, observations and the" how 10", In the restoring of
outboards, ['ll try to be as down to earth a3 | can so as not to loose your interest and hopefully | can sow a
saed in you trying your own motor restoration. | entertain any input or suggestions or for that matter any
corrections in what is to come. Enough of this, let's get rolling with how to start.

For starters, get an outboard that is simple and is restorable. As you get better you can challenge yourself
with a more difficult project but for starters get a cheap old OB, Try to get 2 complete popular engine, thal was
made in the thirties, as they seem to be less complicated and parts are fairly easy to gel. If possible get a
single cylinder motor but a two cylinder will suffice. The better the gas tank the fastar your project will go
becauss straightening a tank is by far the hardest part in outboard restorations. Avoid salt water engines, if
possible, which is somewhal difficult in our area. Next start researching for any parts literature and copies of
the owners manual. This Infarmation is not as hard to find as you think. If you have trouble give me a call and
'l direct you in the right direction. A picture is worth a thousand nuts and bolts when you're trying to dismantle
or when reassembling an engine. Line up a source of decals as these really give the finished product a classy
professional look. Get a box of baggies for your parts. It's easy to lose a part or wonder where it goes butin a
baggie with a note to yourself you'll be amazed at how smart you are. If you already don't have a stand make
one. A piece of a 2x6 or 2x4 clamped in a vise is as simple as you can get but if you're handy with wood you
can make a floor model which later can be used in starling your OB. It would be very helpful if you study up
on two cycle theory as it makes understanding whal you're lo do much simpler.

- In the next newsletter Il discuss the tools you'll need, tool usage and how to get that rascal apart.

From: David Vaughan <woodywagon@earthlink.net»
Subject: Qutboard Restoration, It's Not That Difficult

ANTIQUE OUTBOARD NEWS



Les Gunnarson’s project finally completed with help from Bob Foster.

Beautiful Job Les!

Here is the finished outfit. Bob Foster is the designer and builder of the boat/sidecar including
the sidecar frame and attachment to the motorcycle. Bob is better known in the outboard club
as the "fixer" of aluminum gas tanks as he has reworked a number of them for members. The
sidecar was made to match the BSA (Birmingham Small Arms); green is the correct color for

the bike. Making a boat/sidecar is not an original idea as one was produced in England called
THE CANTERBURY BELL.

The outboard is a FOLDLIGHT sold as a Lockwood, Elto, Evinrude and Sea King in the early
thirties. It is thought to be a Lockwood design because it uses the propeller as the water
"pump"; a Lockwood trademark. The Elto version normally used the Atmater Kent battery igni-
tion system while the others used a magneto. As the name implies, it is very light at 29 pounds
and folds into a very small package. Power output is 2 3/4 horsepower which is about right for
the boat. A folding motor was selected because the lower unit is out of the way when used as a
sidecar. I traded a NSU motorcycle to Bob for the effort; I came out the "winner" on this one.

Les Gunnarson

ANTIQUE OUTBOARD NEWS



1920 STYLE RURABODUT TAKES UPp TO 2% H.P. DUTBOARDS
LENGTH: 10'-g» BEAM: 4 -g¢ PEFTH: 18¢

Ipey 1o make plywood construction just right for
your sntigue Elto Speodster, Lockwood Aew or the
larger Quass ond Speeditwins, Speeds over 30 MPH

To bulid Bullet, first sssemble Lhe saterlals and draw full size paper patternz of all
fromes. Cut sll frames te shape and fasten together over the patterns using 1-1/4" #

8 popews snd Weldwood glus. Tezporsry cresc nombers sheuld be serow fastened between

the topa of the frome olides to keep the freme in shape. The transom frame io assombled
on 1/2" thick weterproof plywood ¢ut to alie and faestened all arcund with 1" #8 screws
about 2" spart and eteggered to avold mplitting the wood, Use Geldwood or Resorcinol

glue on all) contacting ourfoces. )

S5sw tho stem to shape from 1-5/8" thick mohogany or oak stock leaving g 1little oxceos
length on top to allow for trimeing later. The stom can be aotched for the keel and
rough-bovellod prior to avgembly. How is the time for cutting chine, keel and clamp
notehes in wll frames including the traoscm frame opnly. Construct the form from a 10
@4 % 10Y plank aw shoewn, noteh for framos and mount stop any convenient lega at the
propor working helght. Hext mount all frawes, trascosm gnd stem on the form using tomp-
prary elente and braced to alipn, until the J/4"K3.3/4" keedl can b put in yplace using
glue and two 2" #8 scrows to esch Jjoint, Taper the keel ss shown to mmot the stos.

Hext, spring the chines in ploce, fasbening both vides simultanecudly Lo prevent warp-
ing the hull out of shape. horkisg forward, fosten the chines with glus and one 2" #

8 cerow in vach noteh. Trim chise notches to fianl shope n® the work procesds and fin-
olly the forwsrd endz ore bovelled and fastened to the stem. The clampa are soxt fast-
ened to their notches and the stem using glue and one 2" #8 serew st esch $odnt, Care
should bo taken te insure proper hull aligument and use the "good eye” to check for
smooath curves in chine and claz:p.

Finisk the framewoerk by trimsiog ond fairing wo that sll plywood will 1ie flat and ovons
1y. Upe & batton es o guide during trimsing. Hext, inmstall the two bllge battens sid-
way between kKeel and chine, one on sach side, veing glue and ope 2" #6 screw to gach
noteh, Lost, install the outer kee)l using glue ong 1-1/73" #8 agcrews about 8" apert.

Hoady for planking new, inetell the side planks first. Use paper patterns if desired
or cut to shape after bending the sheoet around the oide and morking the chino and ¢lamp
Iimos with a pencils Leave a tiny bit extra for trimeing. After cooting nll mating
surfoces with resorcinol type glue, clusp the side in place and faeten with 1" #6 scrows
o 1% annulor greove boat neila spaced about ¥V spart. The bottom is planked pext aftoer
marking and cutting to rough shape. If you wish, use old fashioned sviation glue on all
bottos jointa, lay cloth etrips along the chine, trunoom and keel, recoat with glue and
apply planking with ccrewa sbout 2% spurt. Heils can be used if desired. If the old
way tounds like & lot of mess, use resorcimol glue lpstead, He sure and allow ths bot-
tons plywoed to extend over ths transom by sore than & so thot the tronsca taile can be
saoaped ae shown while final trimmisg of the plonking is done.

ANTIQUE OUTBOARD NEWS



The exposed edges of the plywood at the stem are coversd with a 1/2"X3/4" oak strip
fastened with glue and screws. Do not round off the chine corners except ever so 1little
to prevent elivering of the wood. Tursn the hull over with the aild of & friend or two,
remove the temporary frame tises and the building form. Fasten all deck beaps and cocke
pilt supports with Weldwood and 1-1/2" #8 screws. Use a thin wood strip to met as a
guide for drawing the curve of the deck beams, and get a little fancy if you want with
the dash~board boam as shown in the frame section. Hotch the 3/49%1-3/4" deck batten
and 3/4"X  1-1/4" deck carline in place and trim framing to voceive decking. Install
stenm and trancom kneos as shown using glue and long screws. low 1o a good time to clean
and vacuum the inside of the hull and paint or varnish as you choose. Light gray is OK,

Attach decking using glus and 1" #9 sereve placed 3" apart. Trim svenly along sides
and attach the oak moldings to cover the exposed deck edge. Shape the cockpit sides as
shown allowing for a graduslly increasing curve at the dash. The floorboard is a olece
of 3/8" oxr 1/2" plywood about 30" square and rounded at the corners., It's a darn good
idea too to plan on some kind of gradb rail or handle to hold onto when at high gpeed.
Construct the motorboard using two pleces of 3/4" plywoed glued and Screw-fastensd to-
gether and bolted to the boat, 3/8" ploted bolts through 1-3/4" thick onk spacers. The
tail knees should be installed 30 as to not interfere with changing the wotorboard ite
self, 40 a different size i3 desired.

Although this entire boat can be planked and decked with 1/4" exterior fir plywood, a
more professional appearance can be achieved using mahogany marine plywood, at least for
the docking., Fill nrll screw heads with Uuratite or similar f£illor and finish with threa
coats of marine paint or varnish. A suggented color schemo io gloss tan on sides and
bottom, varnished natural oak sheer mcldings and varnished mohogany deck with blue or
red striping of your choice. The word "Bullet" could be made from decal letters and

varnished over for protection.

The stabilizers are constructed of L/4" plywood and fastened as shown about 1 above
the bottom using small braés angles. The forward 16" or 60 of the stablliver should be
gontly curved upward to about on inch at the most, at the front. These stabilizors are
sometines useful with the larger motors. This may be a sSmaller, wilder boat than you've
driven before so get used to hor before malking full throttle turne or making jacke
rabbit starts. Install a simple peat, otooring wheol ond some kind of throttle if you
want, but these were not real common in 1928, If you try your hand at duilding Bullet,
drop us a llne, slong with a photo.

Here's onough of a bill of materials to get you started:

3 groas 1Y #8 screws ‘ 1 Pint size com Vater-
1 gross 1-1/4" #8 scrows Hote: All screws should proof Weldwood glue.
1 groms 1l-1/2" #8 sorown be cinc or cad plated to

1 gquart more or less of

W 5y T
L grosa 2" #8 scrows rosist c?rrosian rosoreinol type glue.

2 gross 1" #6 screws
Note: All fraoing lumber should be white oak or Philippine mahogany

Framing and misc., 4 pleces 374V XL J3.374" X 124 Carlins 2 piaces 3/4" X j-1/4%X 6t
Deck beame 1 pioce 374" X 8" X 71 Holdings 2 pleces 1/2' X 1-1/4"X 12V
Form 1 piece 1-5/8" X 10" X 10t Sten 1 plece 1-5/8" X 12n
Inner kesl 1 plece 374 X 3-3/4" X 10'-6" Knees 2 pisceg 3/4Y plywood
Cuter kosl 1 plece 3/4% X 1™ X 10'-B" Oak glued together.

Chines 2 pileces 3/4" X 1-3/8" X 12¢ Tall Knees Scrap lumber

Clamps 2 pleces 3/4" X 1=1/4" X 12¢ Motor board - 1 piece 3/4" plywood
Battens 3 pisces 3/4% X 1-3/4% X BragY 12v X 36w

Plywood ~ 3ides and bottom, 2 pleces 1/4" X 4' X 12'; Deck, 2 pleces 1/4" X 31 ¥ 8¢
Tronson and floorbourd, 1 plecoe 18" X 96" X 1/2" thick,

ANTIQUE OUTBOARD NEWS



s s &5 A
Pt i Fpeie iy g
S

at‘,."‘ O T
I“st.ﬂwy& )

Lg;“ﬁ ‘g‘g f”"“" ‘Mw&w *LLAMP o S
- B — O . T 4
5;—;»‘}’ BATTEN

v TR O T AL

e T e B SRS

FAN, FCE AREE - B T
Bl e AN PO PR
ARSI B R

b . f‘&”

o

B
PR s%“’

”,ﬁ SERAEE AR AR S R,
WA g . e —=
S sl . wy " oY — £
- ( E;_i r v, T | Py
e N g - ) ”twr«-ﬁ'”"'”“*‘{wwi
¥ 4 LT T——— — ¢
_ i,mi | wose L= s B P B
Vw».{*ﬁ = - st W e

CLUB BULLET DETAIL ™ “ie

ANTIQUE OUTBOARD NEWS




Dave Vaughan Grand Prize Winner 2005
No one had the heart to tell Dave he had won an Outboard Motor
(Not a Weed Eater)

It was a great day at the Nautical Museum for our Christmas Party.
The weather was fantastic, the food was great and the people were wonderful.
Thank You All it a great year

Your President George Kent



oMC PARTS

LEE'S MARINE

13910 Struivman Rd., Ceptios, OA
Telephons T14-T38-1003
SEAJNAY HARINE, NG,

2608 HARBOR AVENUE, 8W. Soaltls,

Wiashington, SB125
Teleghone 206-837-7373
COAST DUTBOARDS
RICK CALVIN

51 K Sirest

Chula Vista, Califoroia
Taleplons §15-488-1220

RUSS LARSON

1498 County Rosd #11
Lead, HE 65041-0449
Plapne; A02-H24-2345

340 Dy Bridge Road
eaxlen, HY 13115

Tolephone: 315-258-5708

%,

R B

S MARINE SUPPLY, INE,
204 Parker Ave.,

Hedmes, PA 190431418
Telephone: S10-532-4344
GRUBE'S MARINE

{nond A3 for catalog)

ACE Walnul Stresl

Speing City, PA 19575
Telephong: §10-D48-8855
CUCH SHERRER MARIKE, INC.
12328 €. Firastions Bhad,
Nerwalk, ©4 O0650
Tolephons: 562. 868-9509

The Antique Outboard Motor Club, Inc.,
Mnil this application and $25.00 to AUMC/George Kent, 1240 Lo
“MEMBERSHIP APPL!

= Stinwsd

PARTE
OARDE

COAST QUTE
RICK CALVIN
51 K Siraat
Chaula Visla, Callornia
Tubephons: §19-498-1220
CHRYSLER,
WEST. ¥
HARUS MARIN
PAUL ROGERS
13602 Mowhope

Garden Grove, CA 82843
Telephone: 7145348470

DECALSE
DECAL HEADOUARTERS
Tolephong: $10-823-1740

COASTOUTBRARDS
Tolophone: G15-408.1220

CATALOGE & MANUALS
ORI manuals and parts calalfogs
KEHOOOK SO

PO Box 2EIE5

GO0 W, Sihver Springs Dr.
Shilwaukes, Wistonsas 53225
INTERTEC PUBLISHING

P00 Box 12001

Cvertand Park, RS 852832801
Tulephona: 1-800-262-1054

Faw $-800-635-6218

DOW DWIGGING

149 East Bay

Alking, Arkansns 72823
Tebephone: SO1-041-2413

GAS TANK DERT REMOVAY

DEMMSWEBBDESIGNS

£31 Sa. Lireo Svaat

Aruhwdm, Coldommg UZBUS

Telpphons: 714-538-3874
F14-774-1528

BROPELLERS

YORK PROPELLERS

SOHN YORK

1BITE N Plhacentia
Spanedn, Ualdotena B2ENG
Telephone: TI4T75-5444

GASKETSE

Wintage Motor Gaskets o it Mercury
Outboards 1959 and older. Call o7 wiite
forcatalog:

DOUG BRODKE

B4 WLt

Sonkang, VWA SRZ03

Telsphone, $08-747-0517

RUBEER GRIDS
o $1.00 fur catalog-5 to:
FOXGRIPING,

5181 Cueanorelt Dy,

Danoion, Obug 454320
Telophong BE7.837.8783

MAGNETOS
[RestorelRepairk
Jack Hurt
JEMCARDUSEL

1791 Calavaras Lheen
Santa Rosa, TA QL405
Pafax: TO7-544-1006
ErFax, B00-TH6. 1028

Southern California Chapter
gan St, Suite M, Costa Mesa, California 92626

Mg

Address

ity Shate AT
Diave Telephone _

What do you receive for your me
1. Our local Chapter Newsletier.
ads in our Newsletter for be

2, Fres classi

*

4. Moembers to help

#*

Postal notification of all Kma?rdr,y an

mbership in our Southern California Chapter?

{luamulmatti& G per year

find
5. A preat group uﬁulimrﬂ enthuesiasts [approximately 100] with whom
Guestions? Call (T14) 751-2679 George Hent, Chapler Pres

Wanted & ?t‘qr Sale items.
d wet masts, (Approximately & per year]
It parts to locate and help you sell your unused items.

to socialize and have fun!

ident [E-Mail GNKIS@AOL.COM)



